DAC Single tone sine wave (1Mhz) with 10 samples.
1. Opa277 out ( Vin & Vin1).
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· The waveform is changing from 9v to 2v .As in the code it has to vary from 9v to -9v.
· DAC1 & Dac2 are the output IoutA & IoutB of DAC8822.
· [bookmark: _GoBack]VG1 is the input 1Mhz sin wave.

2. Changes in macro from 80 to 10 samples.

architecture simplified_wave_a of simplified_wave is
  -- ROM declaration
constant LUT_index_min: integer := 0;
constant LUT_index_max: integer := 10;
type ep_LUT_typ is array (0 to 10) of std_logic_vector(15 downto 0);
constant ep_LUT : ep_LUT_typ := ("0111111110111100","0010011100010000","0000000000000001","0000000000001000","0001111101000000","1000100010111000","1100111100001000","1111110111101000","1100111100001000","0111111110111100");
signal LUT_index : integer range 0 to 10;
signal Wave : std_logic_vector(15 downto 0);








3. Excel code applied in macro(10 sampes)
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